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Seat No.: ________                                                           Enrolment No.___________ 
GUJARAT TECHNOLOGICAL UNIVERSITY 

Diploma Engineering – C to D Bridge Course • EXAMINATION – WINTER 2013 
Subject Code: C310501 Date: 23-12-2013        
Subject Name: Physical Analytical and Inorganic Chemistry 
Time: 02:30 pm - 04:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  
2. Make suitable assumptions wherever necessary. 
3. Each Question is of 1 Mark. 
4. English version is considered to be Authentic. 
5. Use of Simple Calculator is permissible. (Scientific / Higher Version not allowed) 

 
No. Question Text and Option 

1. 

A system that can transfer nither matter nor energy to and from it’s surrounding is 
called 
A. A closed system B. An isolated 
C. An open system D. A homogeneous system 

2. 
A thermos flask is an example of 
A. Isolated system B. Closed system 
C. Open system D. Heterogeneous system 

3. 
A gas contained in a cylinder filled with a piston costitutes 
A. An Open system B. Heterogeneous system 
C. A closed system D. An isolated 

4. 

A system that can transfer both energy and matter  to and from its surroundings is 
called 
A. Isolated system B. Closed system 
C. Open system D. Heterogeneous system 

5. 
Zink granules reacting with dilute hydrochloric acid in an open beaker constitutes 
A. Isolated system B. Open system 
C. Closed system D. Heterogeneous system 

6. 
A system in which no thermal energy passes into or out of the system is called 
A. Adiabatic system B. Open system 
C. A reversible system D. Closed system 

7. 
Which of the following properties is not a function of state? 
A. concentration B. Internal energy 
C. enthalpy  D. entropy 

8. 

The heat capacity at constant pressure is related to heat capacity at constant volume by 
the relation  
A. Cp-R=Cv B. Cv-R= Cp 
C. Cp- Cv = R D. R-Cp=Cv 

9. 
Which of the following is not true. 
A. H=E+PV B. H-E= PV 
C. H-E- PV=0 D. H=E- PV 

10. 
The tendency of a process to occur naturally is called 
A. Momentum of the reaction B. Spontaneity of the reaction 
C. Equilibrium of the reaction D. None of this 

11. 
Asponteneous change is accompanied by ________of internal energy or enthalpy. 
A. increase B. decrease 
C. neither increase nor decrease D. None of this 

12. 
Entropy is a measure of _______of the molecules of the system. 
A. concentration B. velocity 
C. Zig-zag motion D. Randomness or disorder 

13. The molar volume of a liquid at a temperature where its surface tension is unity 
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is called  
A. Molar volume B. Molar surface tension 
C. Molar viscosity D. parachor 

14. 
With rise in temperature,the surface tension of a liquid 
A. increases B. decreases 
C. Remains the same D. None of the above 

15. 

The formula used in drop-number method for determination of surface tension of 
liquid is 
A.  γ1/ γ2= n2d1/n1d2 B. γ 1/ γ2 =n1d2/n2d1 
C. γ1/ γ2=n1d1/n2d2 D. γ 1/ γ2 =n2d2/n1d1 

16. 

Viscosity of a liquid is a measure of  
A. Repulsive forces between the 

liquid molecules 
B. Frictional resistance 

C. Intermolecular forces between 
the molecules 

D. None of the above 

17. 
The formula used for the determination of relative viscosity by Ostwald’s method is 
A. n1/ n2= d1t1/d2t2 B. n1/ n2=d2t1/d1t2 
C. n1/ n2=d1t2/d2t1 D. n1/ n2=d2t2/d1t1 

18. 
In general, the viscosity _______with temperature 
A. decreases B. increases 
C. Remains the same D. None of the above 

19. 

The specific refraction is given by the formula 
A. Rs=  n2-1  ×  1 

        n2+2      d 
B. Rs=   n2+1  ×  1 

         n2-2       d 
C. Rs=  n2-1  ×  1 

       n2-2        d 
D. Rs=   n2+1  ×1 

         n2+2     d 

20. 

The molar refraction is given by the formula 
A. RM=  n2+1  ×  M 

        n2+2        d 
B. RM=  n2-1  ×  M 

         n2+2      d          
         

C. RM=  n2+1  ×  M 
         n2-2      d 

D. RM=  n2-1  ×  M 
         n2-2      d 

21. 
Insects can walk on the surface of water due to 
A. viscosity B. surface tension 
C. refractivity D. Optical activity 

22. 
Viscosity can be determine by 
A. Ostwald viscometer B. Abbe Refrectometer 
C. stelagmometer D. PH-meter 

23. 
Refractive index can be measured with 
A. Ostwald viscometer B. Abbe Refrectometer 
C. stelagmometer D. PH-meter 

24. 
To determine surface tension apparatus used is 
A. Ostwald viscometer B. Abbe Refrectometer 
C. stelagmometer D. PH-meter 

25. 
Reaction rate can change with 
A. Temperature B. The addition of acatalyst 
C. Reaction concentrations D. All of these 

26. 
The rate law relates the rate of a chemical reaction to 
A. The concentration of reactants B. The temperature 
C. The activation energy D. The reaction mechanism 

27. 

To study the rate of a reaction,it is necessary to 
A. Identify the reactants B. Know the relative amounts of reactants 

used  
C. Know the overall chemical D. All of the above are necessary 
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equation for the reaction 

28. 
A reaction in which all reactants are in the same phase is called 
A. elementary B. bimolecular 
C. homogeneous D. Heterogeneous 

29. 
A+B+C ----->products 
A. unimolecular B. trimolecular 
C. bimolecular D. tetramolecular 

30. 
In true solutions,the diameter of the dispersed particles is in the range from 
A. 1Å To 10 Å B. 10 Å  To  100 Å 
C. 100 Å  To 200 Å  D. 200 Å  To 500 Å 

31. 
In a suspension the diameter of the dispersed particles is of the order 
A. 10 Å B. 100 Å 
C. 1000 Å D. 2000 Å 

32. 

A colloidal solution consist of 
A. A dispersed phase B. A dispersion medium 
C. A dispersed phase in a dispersion 

medium 
D. A dispersion medium in a dispersed 

phase 

33. 

The sols in Which the dispersed phasae exhibits a definite affinity for the medium or 
the solvent is called 
A. Lyophillic sols B. Lyophobic sols 
C. emulsions D. hydrosols 

34. 
the scattering of light by the dispersed phase is called 
A. Brownian movement B. Tyndall effect 
C. adsorption D. electrophoresies 

35. 
In lyophobic sols,the dispersed phase has no_______for the medium or solvent 
A. repulsion B. attraction  
C. solvetion D. hydration 

36. 
_______do not show Tyndel effect 
A. True solution B. colloidal solutions 
C. suspensions D. None of these 

37. 
The movement of sol particles under an applied electric potential is called 
A. Electrophoresis B. Electro-osmosis 
C. Electrofiltration D. None of these 

38. 

The movement of the dispersion medium under the influence of applied potential is 
known as 
A. osmosis B. difusion 
C. electro osmosis D. Electrophoresis 

39. 
If the sol particles in a given colloid moves towards the anode,they carry 
A. Positive charge B. Negative charge 
C. No charge D. None of these 

40. 
A sol of ferric chloride moves to the negative electrode.the colloidal particles carry 
A. No charge B. Positive charge 
C. Negative charge D. None of these 

41. 

The continuous rapid zig-zag movement executed by a colloidal particale in the 
dispersion medium is called 
A. Tyndall effect B. Brownian movement 
C. Electrophoresis D. peptization 

42. 

The phenomenon of concentrations of molecules of a gas or liquid at a solid surface is 
called 
A. absorption B. adsorption 
C. catalysis D. None of these

43. 
Physical adsorption is 
A. exothermic B. endothermic 
C. Some time exothermic Some D. None of these 
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time endothermic 

44. 

The concentration of a solution is defined as  
A. The amount of solvent present in 

a given amount of solution 
B. The amount of solute present in a given 

amount of solution 
C. The amount of solute present in 

a given amount of solvent 
D. The amount of solvent present in a 

given amount of solute 

45. 
The molarity is defined as the numberof moles of solute present in 
A. One litre of the solvent B. one litre of the solution 
C. One kilogramof the solvent D. One kilogramof the solution 

46. 
The molality of a solution is defined as the number of moles of solute present in 
A. One litre of the solvent B. one litre of the solution 
C. One kilogramof the solvent D. One kilogramof the solution 

47. 
Normality of a solution is the number of _________of solute per litre of the solution 
A. moles B. equivalents 
C. Formula weight D. Mole fraction 

48. 

A saturated solution is Defined as one Which is ________with the excess of solid at a 
particular temperature 
A. In contact B. In equilibrium 
C. Contains impurities D. None of these 

49. 

In super saturated solution,the amount of solute is________in comparison to saturated 
solution 
A. more B. less 
C. Equal to D. None of these 

50. 

The solubility generally rises with 
A. Increases in temperature B. Decrease in temperature 
C. Increases in volume of the 

solvent 
 None of these 

51. 
In a saturated solution there exists an equilibrium between 
A. Solvent and excess of solid B. solution and excess of solid 
C. Solid and excess of solvent D. Solid and excess of solution 

52. 
The number of moles of a solute per kilogram of the solvent is called 
A. formality B. normality 
C. molarity D. molality 

53. 
The molarities of 0.1N solution of HCL and 0.1N solution of H2SO4 are respectively 
A. 0.1M and 0.1M B. 0.1M and 0.05M 
C. 0.05M  and 0.1M D. 0.1M and 0.2M 

54. 
The normalities of 1M solution of HCL,1M H2SO4 and 1MH3PO4 
A. 1N,2N,3N B. 2N,3N,1N 
C. 0.1N.0.2N and 0.3N D. 3N,2N,1N 

55. 
IN 1.0M solution of sulphuric acid,the moles of hydrogen ions present will be 
A. 1.0M B. 2.0M 
C. 3.0M D. 4.0M 

56. 
The enthalpy of asystem is defined by the relation 
A. H=E+PV B. H=E-PV 
C. E=H+PV D. PV+E-H 

57. 
Haber processis used to manufacture 
A. ammonia B. Nitric acid 
C. Sulphuric acid D. Hydrochloric acid 

58. 
Contact process is used to manufacture 
A. ammonia B. Nitric acid 
C. Sulphuric acid D. Hydrochloric acid 

59. 
Catalyst used in haber process 
A. Fe B. V2O5 
C. Pt D. Al2O3 

60. Catalyst used in contact process 
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A. Fe B. V2O5 
C. Pt D. Al2O3 

61. 

     _________is prepared  by the electrolysis of brine in nelsen cell. 

 
A. NaOH B. H2So4 
C. NH3 D. K2Cr2O7 

62. 
The emf of the standard hydrogen electrode is 
A. 0.0  volts B. 1.0  volts 
C. 0.5  volts D. 2.5  volts 

63. 

Standard cell potential is 
A. Measured at a temperature  

of 250C 
 

B. Measured when ion concentrations of 
aquous reactants are 1.00M 

C. Measured under the condition of 
1.00atm for gaseous reactants 

D. All of the above 

64. 
PH of the solution can be Measured by 
A. PH meter B. PH paper 
C. Universal indicator method D. All of the above 

65. 

The first law of thermodynemics is 
A. The total energy of an isolated 

system remains constant through 
it may change from one form to 
another 

B. total energy of a system and 
surroundings remains constant 

C. Whenever energy of one type 
disappears,equivalent amount of 
another type is produced 

D. All of the above 

66. 
The work done in the reversible expansion of a gas from the initial state A to B is 
A. maximum B. minimum 
C. Equal to zero D. Equal to infinity

67. 
The thermochemical equation may be 
A. multiplied B. added 
C. substracted D. All of these 

68. 
Those processes in which the temperature remains fixed,are termed 
A. Isothermal processes B. adiabatic processes 
C. isobaric processes D. cyclic processes 

69. 
Those processes in which no heat can flow into or out of the system,are called 
A. Isothermal processes B. adiabatic processes 
C. isobaric processes D. cyclic processes 

70. 
Law of energy conservation 
A. First law of thermodynemics B. second law of thermodynemics 
C. Hess’s law D. None of these 

 
************** 

Ȥજુરાતી 

ન.ં ̆ĕ તેમજ િવકƣપ 

1. 

Ȑ ̆ણાલી ̃ƥય ક° શ�ƈતની પયા½વરણ સાથે આપ લે ન કર� શક° તેને  કઇ ̆ણાલી કહ° છે.    

  

A.  બધં ̆ણાલી B. નીરાળ� ̆ણાલી 

C. ȣƣુલી ̆ણાલી D.  સમાગં ̆ણાલી 

2. થમҴƝલાƨક શાȵ ુઉદાહરણ છે.    
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A.  નીરાળ� ̆ણાલી B. બધં ̆ણાલી 

C. ȣƣુલી ̆ણાલી D.  િવસમાગં ̆ણાલી 

3. 

પીƨટન સાથે િસ�લ�ડરમા ંગેસ ભર°લો હોય તેને  કઇ ̆ણાલી કહ° છે.     

A.  ȣƣુલી ̆ણાલી B. િવસમાગં ̆ણાલી 

C. બધં ̆ણાલી D.  નીરાળ� ̆ણાલી 

4. 

Ȑ ̆ણાલી ̃ƥય ક° શ�ƈતની પયા½વરણ સાથે આપ લેકર� શક° તેને  કઇ ̆ણાલી કહ° છે.    

 

A.  નીરાળ� ̆ણાલી B. બધં ̆ણાલી 

C. ȣƣુલી ̆ણાલી D.  િવસમાગં ̆ણાલી 

5. 

ȣƣુલા બીકરમા ંદાણાદાર ઝӄƈની મદં હાઇ˾ો ƈલો�રક એસીડ સાથેની ̆�˲યા કઇ ̆ણાલી કહ° છે.   

A.  નીરાળ� ̆ણાલી B. ȣƣુલી ̆ણાલી 

C. બધં ̆ણાલી D.  િવસમાગં ̆ણાલી 

6. 

Ȑ ̆ણાલીમા ંઉƧમાશ�ƈત ̆ણાલીની Ӕદર ક° બહાર ન જઇ શક° તેને  કઇ ̆ણાલી કહ° છે.        

A.  સમોƧમી ̆ણાલી  B. ȣƣુલી ̆ણાલી 

C. ̆િતવત�  ̆ણાલી ̆ણાલી  D.  બધં ̆ણાલી 

7. 

નીચેનામાથંી કયો Ȥણુધમ½ �ƨથત િવધેય નથી.      

A.  સાં̃ તા   B. ӕત�રક શ�ƈત 

C. એƛથાƣપી D.  એƛ˼પી  

8. 

અચળ દબાણે ઉƧમëમતા અને અચળકદ° ઉƧમëમતા ƥચેનો સબધં      

A.  Cp-R=Cv B. Cv-R= Cp 

C. Cp- Cv = R D. R-Cp=Cv 

9. 

નીચેનામાથંી ɉ ુસાȧુ ંનથી   

A.  H=E+PV B. H-E= PV 

C. H-E- PV=0 D. H=E- PV 

10. 

Ȣુદરતી ર�તે ̆�˲યા ઉƗપન થવાની ʫિુĂને Ƀુ ંકહ° છે.      

A.  ̆�˲યાની ગિત  B. આપમેળે  થતી ̆�˲યા 

C. ̆�˲યાȵ ુસȱંલુન  D.  કોઇ પણ નહ�.  

11. 

આપમેળે થતી ̆�˲યા સાથે ӕત�રકશ�ƈત અથવા એƛથાƣપીમા ં     _________થાય છે. 

A.  વધારો  B. ઘટાડો   

C. ન વધારો ન ઘટાડો D.  કોઇ પણ નહ�. 

12. 

એƛ˼ોપી ̆ણાલીના અȰઓુની   _________ȵુ ંમાપ છે.   

A.  સાં̃ તા B. વેગ   

C. ઝીગ-ઝેગ ગિત   D.  અƥયવƨથા    

13. 

Ȑ તાપમાને ̆વાહ�ȵુ ં ʠƧુઠતાણ એકમ હોય તે̆વાહ�ના અȰƈુદને Ƀુ ંકહ° છે.             

A.  અȰƈુદ B. અȰ ુʠƧુઠતાણ 

C. અȰ�ુƨનƊતા  D.  પેરાકોર    
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14. 

તાપમાનના વધારાની સાથે ̆વાહ�ના ʠƧુઠતાણમા ં    

A.  વધારો  B. ઘટાડો   

C. સરȣજુ રહ°     D.  કોઇ પણ નહ�. 

15. 

ʠƧુઠતાણ માપવાની ટપકાગણવાની પƚધિતȵુ ંɅુ́        

A.   γ1/ γ2= n2d1/n1d2 B. γ 1/ γ2 =n1d2/n2d1 

C. γ1/ γ2=n1d1/n2d2 D. γ 1/ γ2 =n2d2/n1d1 

16. 

̆વાહ�ની �ƨનƊધતાȵુ ંમાપ     

A.  ̆વાહ�ના અȰઓુ વƍચȵુ ં

અપાકષ½ણ બળ    

B. ઘષ½ણ અવરોધ      

C. અȰઓુ વƍચȵુ ંӕતરઆƖવીય 

બળ     

D.  કોઇ પણ નહ� 

17. 

ઓƨવાƣડ Ɯƚધિતથી �ƨનƊધતા નï� કરવાȵુ ંɅુ́       

A.  n1/ n2= d1t1/d2t2 B. n1/ n2=d2t1/d1t2 

C. n1/ n2=d1t2/d2t1 D. n1/ n2=d2t2/d1t1 

18. 

સામાƛય ર�તે તાપમાનના વધારાની સાથે ̆વાહ�ની �ƨનƊધતામા ં          

A.  વધારો  B. ઘટાડો   

C. સરȣજુ રહ°     D.  કોઇ પણ નહ�. 

19. 

િવિશƧટ વ˲�ભવનાકં દશા½વȱ ુ Ʌુ́    

A.  Rs=  n2-1  ×  1 
        n2+2      d 

B. Rs=   n2-1  ×  1 
         n2+2       d 

C. Rs=  n2-1  ×  1 
       n2-2        d 

D. Rs=   n2-1  ×1 
         n2-2     d 

20. 

અȰ ુવ˲�ભવનાકં દશા½વȱ ુ Ʌુ́    

A.  RM=  n2+1  ×  M 
        n2+2        d 

B. RM=  n2-1  ×  M 
         n2+2      d          
         

C. RM=  n2+1  ×  M 
         n2-2      d 

D. RM=  n2-1  ×  M 
         n2-2      d 

21. 

̆વાહ�ની સપાટ� પર ĥવાȰનુા તરવાȵુ ંકારણ         

A.  �ƨનƊધતા B. ʠƧુઠતાણ 

C. વ˲�ભવન  D.  ̆કાશ સ�˲યતા      

22. 

�ƨનƊધતા શેના વડ° માપી શકાય.     

A.  ઓƨવાƣડ િવƨકોમીટર    B. એબ ર° °̇ƈટોમીટર    

C. ƨટ°લેƊમોમીટર     D.  PH મીટર 

23. 

વ˲�ભવનાકં શેના વડ° માપી શકાય.       

A.  ઓƨવાƣડ િવƨકોમીટર    B. એબ ર° °̇ƈટોમીટર    

C. ƨટ°લેƊમોમીટર     D.  PH મીટર 

24. 

ʠƧુઠતાણ નï� કરવા વપરાȱ ુ સાધન     

A.  ઓƨવાƣડ િવƨકોમીટર    B. એબ ર° °̇ƈટોમીટર    

C. ƨટ°લેƊમોમીટર     D.  PH મીટર 
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25. 

ની સાથે ̆�˲યાદર બદલાય છે.  

A.  તાપમાન  B. ઉĆ�પકનો ઉમેરો     

C. ̆�˲યા સાં̃ તા D.  બધાજ    

26. 

દર નીયમ સબંિંધત રાસાય�ણક  ̆�˲યાદર શાના પર આધા�રત      

A.  ̆�˲યકની  સાં̃ તા  B. તાપમાન  

C. સ�˲યશ�ƈત  D.  ̆�˲યા �˲યાિવિધ  

27. 

̆�˲યાદરના અƟયાસ માટ° જȿુર�   

A.  ̆�˲યકની ઓળખ B. ̆�˲યકો ની સાપેë મા́ા  

C. ̆�˲યાȵુ ંસમીકરણ   D.  બધાજ 

28. 

Ȑ ̆�˲યામા બધા ̆�˲યકો એકજ ભૌિતક �ƨથિતમા હોય   

A.  ̆ારં�ભક  B. �ĎઆƖવીય  

C. સમાગં D.  િવસમાગં 

29. 

A+B+C ----->નીપજ   

A.  એકાƖવીય B.  ́ીઆƖવીય 

C. �ĎઆƖવીય D.  ચȱથુ½આƖવીય  

30. 

સાચા ̃ાવણમા ં િવëેિપત કણોનો  ƥયાસ       

A.  1Å To 10 Å B. 10 Å  To  100 Å 

C. 100 Å  To 200 Å  D. 200 Å  To 500 Å 

31. 

સƨપેƛસન ̃ાવણમા ં િવëેિપત કણોનો ƥયાસ          

A.  10 Å B. 100 Å 

C. 1000 Å D. 2000 Å 

32. 

ક�લલ ̃ાવણ  ધરાવે છે.  

A.  િવ�કણ½કલા    B. િવ�કરણ  માƚયમ  

C. િવ�કણ½કલા િવ�કરણ  માƚયમમા   D.  િવ�કરણમાƚયમ િવ�કણ½  કલામા    

33. 

Ȑ ̃ાવણમા ંિવëેિપત કલા માƚયમ અથવા ̃ાવક માટ° આકષ½ણ ધરાવે છે.        

A.  ̃ાવક ચાહક     B. ̃ાવક િન�દક  

C. પાયસ  D.  હાઇ˾સોલ  

34. 

િવëેિપત કલા Ďારા ̆કાશȵ ુિવખેરણને Ƀુ ં કહ° છે.    

A.  ̈ાઉિનયન  ગિત   B. �ટ�ડલ અસર     

C. અિધશોષણ     D.  િવȴતુકણ સચંાલન      

35. 

̃ાવક િન�દકમા િવ�કણ½કલાને ̃ાવક માટ° ________ હોય છે. 

A.  અપાકષ½ણ    B. આકષ½ણ    

C. સોƣવેશન    D.  હાઇ˾°શન    

36. 

________ �ટ�ડલ અસર દશા½વȱ ુનથી.      

A.  સાચા ̃ાવણ B. ક�લલ ̃ાવણ   

C. સƨપેƛસન D.  કોઇપણ નહ�    

37. િવȴતુ �ƨથિતમાનની અસર હ°ઠળȵ ુ ક�લલકણોȵુ ંƨથાનાતંર કહ° છે.       
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A.  ઇલેક˼ોફોર°સીસ    B. ઇલેક˼ોઓƨમોસીસ 

C. ઇલેક˼ો�ફƣ °˼શન   D.  કોઇપણ નહ�    

38. 

િવȴતુ �ƨથિતમાનની અસર હ°ઠળȵ ુિવ�કરણમાƚયમȵ ુ ƨથાનાતંર ________ કહ° છે.       

A.  ઓƨમોસીસ B. �ડફȻઝુન    

C. ઇલેક˼ોઓƨમોસીસ D.  ઇલેક˼ોફોર°સીસ   

39. 

આપેલા ક�લલમા ંસોલકણો ધન ʞવુ તરફ ગિત કર° તો તેઓ ðો િવȴતુભાર ધરા વે છે.          

A.  ધન   B. ઋણ   

C. િવȴતુભાર વગરના    D.  કોઇપણ નહ�    

40. 

ફ°�રક કલોરાઇડȵ ુસોલ ઋણ  ʞવુ તરફ ગિત કર° તો ક�લલƈણો ðો િવȴતુભાર ધરા વે છે.       

A.  િવȴતુભારવગરના    B. ધન 

C. ઋણ D.  કોઇપણ નહ�    

41. 

ક�લલƈણોની િવ�કરણમાƚયમમા ંસતત ઝડપી ઝીગ ઝેગ ગિતને Ƀુ ંકહ°વાય.           

A.  �ટ�ડલ અસર     B. ̈ાઉિનયન  ગિત   

C. ઇલેક˼ોફોર°સીસ D.  પેƜટાઇઝૅશન  

42. 

વાȻ ુક° ̆વાહ�ના ƈણોની ઘન સપાટ� પર સકં°ƛ̃ીત થવાની ઘટનાને  Ƀુ ંકહ°વાય.                 

A.  શોષણ    B. અિધ શોષણ 

C. ઉĆ�પન   D.  કોઇપણ નહ�    

43. 

ભૌિતક અિધ શોષણ 

A.  ઉƧમાëેપક B. ઉƧમાશોષક   

C. કોઇƈવાર ઉƧમા ëેપક કોઇƈવાર 

ઉƧમાશોષક   

D.  કોઇપણ નહ�    

44. 

̃ાવણની  સાં̃ તા એટલે   

A.  ̃ાવણમા ̃ાવકની મા́ા   B. ̃ાવણમા ̃ાƥયની મા́ા   

C. ̃ાƥયની મા́ા ̃ાવકમા   D.  ̃ાવકની મા́ા ̃ાƥયમા   

45. 

________મા ઓગાળેલા ̃ાƥયના મોલની સƉંયાને મોલાર�ટ� કહ° છે.        

A.  એક લીટર ̃ાવક  B. એક લીટર ̃ાવણ  

C. એક �કલો˴ામ ̃ાવક D.  એક �કલો˴ામ ̃ાવણ 

46. 

________મા ઓગાળેલા ̃ાƥયના મોલની સƉંયાને મોલાલીટ� કહ° છે.        

A.  એક લીટર ̃ાવક  B. એક લીટર ̃ાવણ  

C. એક �કલો˴ામ ̃ાવક D.  એક �કલો˴ામ ̃ાવણ 

47. 

એક લીટર ̃ાવણમા ઓગાળેલા ̃ાƥયના________ સƉંયાને નોમા½લીટ� કહ° છે.        

A.  મોલ B. ȱƣુયભાર   

C. ફોરƠȻલુા  વેઇટ     D.  મોલ Ӕશ   

48. 

̃ાવણ ક° Ȑ ચોïસ તાપમાને વધારાના ઘન સાથે ________હોય તેને સȱંƜૃત ̃ાવણ કહ° છે.    

A.  સપંક½મા  B. સȱંલુનમા   

C. અɃƚુધીઓ ધરાવે    D.  કોઇપણ નહ�    

49. 
સȱંƜૃત ̃ાવણની સરખામણીમા અસȱંƜૃત ̃ાવણની મા́ા સȱંƜૃત ̃ાવણ હોય છે.      

A.  વધાર° B. ઓĠ 
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C. સરȣ ુ   D.  કોઇપણ નહ�    

50. 

________સાથે સામાƛય ર�તે ̃ાƥયતામા વધારો થાય  છે.     

A.  તાપમાનના વધારા     B. તાપમાનના ઘટાડા  

C. ̃ાવકના કદના વધારા  D.  કોઇપણ નહ�    

51. 

સȱંƜૃત ̃ાવણમા ________વƍચે સȱંલુન હોય છે. 

A.  ̃ાવક અને વધારાનાઘન  B. ̃ાવણ અને વધારાના ઘન 

C. ઘન અને વધારાના ̃ાવક D.  ઘન અને વધારાના ̃ાવક 

52. 

એક �કલો˴ામ ̃ાવણમા રહ°લા  ̃ાƥયના મોલની સƉંયાને 

A.  ફોમ½લીટ� B. નોમા½લીટ� 

C. મોલાર�ટ� D.  મોલાલીટ� 

53. 

0.1N  HCL અને 0.1N  H2SO4 ̃ાવણની મોલાર�ટ� 

A.  0.1M   અને  0.1M B. 0.1M અને 0.05M 

C. 0.05M અને   0.1M D. 0.1M અને 0.2M 

54. 

1M  HCL,1M H2SO4 and 1MH3PO4 ̃ાવણની નોમા½લીટ� 

A.  1N,2N,3N B. 2N,3N,1N 

C. 0.1N.0.2N અને 0.3N D. 3N,2N,1N 

55. 

1.0M સƣફȼ�ુરક એિસડના ̃ાવણમા રહ°લા હાઇ˾ોજન આયનની  સƉંયા         

A.  1.0M B. 2.0M 

C. 3.0M D. 4.0M 

56. 

̆ણાલીની એƛથાƣપીȵ ુસમીકરણ     

A.  H=E+PV B. H=E-PV 

C. E=H+PV D. PV+E-H 

57. 

હ°બર Ɯƚધિત શાના ઉƗપાદનમા ઉપયોગી છે.    

A.  એમોનીયા   B. નાઇ˼�ક એિસડ   

C. સƣફȼ�ુરક એિસડ D.  હાઇ˾ોƈલો�રક એિસડ     

58. 

સપંક½ Ɯƚધિત શાના ઉƗપાદનમા ઉપયોગી છે.    

A.  એમોનીયા   B. નાઇ˼�ક એિસડ   

C. ƨƣફȼ�ુરક એિસડ D.  હાઇ˾ોƈલો�રક એિસડ     

59. 

હ°બર Ɯƚધિતમા વપરાતો ઉĆ�પક       

A.  Fe B. V2O5 

C. Pt D. Al2O3 

60. 

સપંક½ Ɯƚધિતમા વપરાતો ઉĆ�પક          

A.  Fe B. V2O5 

C. Pt D. Al2O3 

61. 

નેƣસન સેલમા ̈ાઇન  ̃ાવણના િવȴતુિવભાજન વડ°   ________ȵ ુઉƗપાદન કરવામા આવે 

છે.          

A.  NaOH B. H2So4 
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C. NH3 D. K2Cr2O7 

62. 

̆માણȹતુ હાઇ˾ોજન િવȴતુʞવુનો ઇ.એમ.એફ        

A.  0.0  volts B. 1.0  volts 

C. 0.5  volts D. 2.5  volts 

63. 

̆માણȹતુ કોષનો િવજ�ƨથિતમાન    

A.  ૨૫ ડ�˴ીC તાપમાને માપવામા 

આવે છે.       

B. જલીય ̃ાવણની સાં̃ તા ૧.૦ હોય Ɨયાર° 

માપવામા આવે છે.        

C. વાȻȿુુપ ̆�˲યકોȵ ુવાતાવરણ ૧ 

atm હોય Ɨયાર° માપવામા આવે છે.   

D.  બધાજ 

64. 

̃ાવણની   PH શાનાથી માપી શકાય    

A.  PH meter B. PH paper 

C. સાવ½́ીક Ʌચુક પƚધિત       D. બધાજ 

65. 

ઉƧમા ગિતશાĘનો ̆થમ િનયમ      

A.  ̆ણાલીની Ȣુલ શ�ƈત અચળ રહ° છે 

એક ƨવȿુપમાથી બીĤ ƨવȿુપમા 

ȿુપાતંર પામે છે.        

 ̆ણાલી અને પયા½વરણની   Ȣુલ શ�ƈત 

અચળ રહ° છે 

C. Ԍયાર°પણ એક ̆કારની શ�ƈત 

અ̃Ʀય થાય તેટલીજ મા́ામા 

બીĥ શ�ƈત ઉƗપđ થાય છે.          

 બધાજ   

66. 

વાȻનુા A થી B  ̆િતવત�  િવƨતરણમા ંથȱ ુકાય½    

A.  મહĂમ    B. લȥĂુમ   

C. Ƀƛૂય  D.  અનતં    

67. 

ઉƧમારાસાય�ણક  સમીકરણમા થઇ શક°.         

A.     Ȥણુાકાર B. સરવાળા 

C. બાદબાક� D.  બȴ ુજ   

68. 

Ȑ ̆˲�યામા તાપમાન અચળ રહ° તેને   

A.  સમતાપી  ̆˲�યા   B. સમોƧમી ̆˲�યા  

C. સમભાર�ય  ̆˲�યા  D.  ચ�˲ય ̆˲�યા 

69. 

Ȑ ̆˲�યામા ̆ણાલીમા  ઉƧમા ̆વેશી ક° બહાર નીકળ� શકતી નથી      

A.  સમતાપી  ̆˲�યા   B. સમોƧમી ̆˲�યા  

C. સમભાર�ય  ̆˲�યા  D.  ચ�˲ય ̆˲�યા 

70. 

શ�ƈતસચંયનો િનયમ        

A.  ઉƧમા ગિતશાĘનો ̆થમ િનયમ     B. ઉƧમા ગિતશાĘનો બીજો િનયમ 

C. હ°ઝનો   િનયમ D.  કોઇપણ નહ�    
 

************** 


